7ft. 4-Post Adjustable Distribution Rack

PEREGEEEEEEET SEREEECEEEECEEAETEIEEEN

Package includes:

. Top Rail, 2 pcs

. Base, 2 pcs

. Side Rail, 4 pcs

. 3/8-16 UNC x 1" Black Oxide, Grade |
Hex Bolt, 24 pcs

. 3/8-16 UNC Black Oxide Hex Nut, 24 pcs
3/8 Black Oxide Lock Washer, 24 pcs

. 1/4-20 x 5/8 Carriage Bolt, 16 pcs

. 1/4-20 Lock Washer, 16 pcs
1/4-20 Nut, 16 pcs

. #12-24 x 5/8 Pan Head, Pilot Point
Machine Screw, see page 2

K. Installation Instructions, 1 sheet

o0 w>»

c—IGmmMm

\7ft. 4—Post Distribution Rack

7

Features and Benefits:
e Designed with aluminum construction, black powder coated, lightweight and sturdy, making it ideal
for installing voice and data equipment such as patch panels, active components, shelves, drawers,
and cable management products creating a neat structured and organized cabling system.

e Adjustable from 27" minimum to 32" maximum depth.

e Provides 45 rack mount spaces on front and rear side for mounting different types of equipment.

e Compatible with ICC's Rack Floor Mount Kit ICCMSRFLKT). [

e Additional racks can be ganged on the sides if necessary. SO.df; o

e Printed rack mount spec numbering for easy installation. / === \
e Used with all of ICC's rack mount products. ‘ @ B8 TWAcommecom :
e Installation instructions \ o Froe, (477) 386.0000 /

~_

4-POST DISTRIBUTION RACK, 7FT %
PremiumProducts

ITEM NO. ICCMSR4P84 REV. B
ProvenPerformance
DWG NO. PSCMSR4P84 PAGE NO. 1 CompetitivePrices

CUSTOMER CARE / TECHNICAL SUPPORT * CSR@ICC.COM / 888-ASK-4-ICC (275-4422) * 14700 Alondra Blvd, La Mirada, CA 90638 * www.icc.com *

© 2009 ICC. THIS DOCUMENT AND THE DESIGNS, SPECIFICATIONS AND INFORMATION CONTAINED HEREIN ARE THE PROPERTY OF ICC. REPRODUCTION, MODIFICATION, ALTERATION, OR UNAUTHORIZED USE WITHOUT ICC'S APPROVAL IS STRICTLY PROHIBITED.
ICC AND THE ICC LOGO ARE THE TRADENAME AND REGISTERED TRADEMARK OF ICC. ALL RIGHTS RESERVED.



-~ 20.25 = ( AZ[_“ ' \\)

BEE
° o B @8 TWAcommecom
S B  hipwwTWAcommeom

Toll Free: (877) 389-0000

3 L e

~
<) o
- 16.00 - ADJUSTABLE FROM 27.00 MIN
= Y
TO 32.00 MAX
—— 18.312 |=—
RMS NUMBERING .
e ap
—— 3
- ———— =~ S/
- O ~ } E
/ | — / £
/ o \< E 00 -X-]
/ 45 O £
/ _ o \ £
| : o
( 4 O l £
E
\ _o / ;
o
\ 43 O / E 00! 00
o 5
\ ~ 6 / ::
N /
N 42 O e E
e £
S _° - £
~ d \047 . — E
E
E
£
:
E
E
? oo oo
l
NOTE: UNLESS OTHERWISE SPECIFIED
1. MATERIAL: ITEMNO. |H(FT)| #12-24x5/8" SCREWS | RMS | WEIGHT(LBS)
A. TOP RAILS: 6061-T6 ALUMINUM
B. BASE: 6061-T6 ALUMINUM ICCMSR4P84| 7 50 2 53
C. SIDE RAILS: 6063-T6 ALUMINUM
D. AJUSTABLE CHANNELS: 12 GA CRS
E. AJUSTABLE BRACKETS: 12 GA CRS
2. SURFACE FINISH; BLACK POWDER COAT
4-POST DISTRIBUTION RACK, 7FT - c
ITEM NO. ICCMSR4P84 REV. B PremiumProducts
ProvenPerformance
DWG NO. PSCMSR4P84 PAGE NO. 2 CompetitivePrices

CUSTOMER CARE / TECHNICAL SUPPORT * CSR@ICC.COM / 888-ASK-4-ICC (275-4422) * 14700 Alondra Blvd, La Mirada, CA 90638 * www.icc.com *

© 2009 ICC. THIS DOCUMENT AND THE DESIGNS, SPECIFICATIONS AND INFORMATION CONTAINED HEREIN ARE THE PROPERTY OF ICC. REPRODUCTION, MODIFICATION, ALTERATION, OR UNAUTHORIZED USE WITHOUT ICC'S APPROVAL IS STRICTLY PROHIBITED.
ICC AND THE ICC LOGO ARE THE TRADENAME AND REGISTERED TRADEMARK OF ICC. ALL RIGHTS RESERVED.



